A FEREE (EWRHELT)

A,/ A RREH Z i
Ewg =
(R F) AL (24 54) A
1/30 B O LV AR GLE o S HEE T "
/ R tes xt%jvﬁ%u 5 ETA gﬁ B
(") Xt M e e BE EIEE R BH)

FREOOFTIAMIINRBREERFORLEICIONT

AB. F=IZRNT 4450 A(#F T 1546 A 1EERT 408 A, W™ 645 A FBE™ 599 A, BAFET 252 A, & 1000 A\)D
FROOF O RABREEBRENERINEL,
D55, BEEFUAEHEAAES 1000 NZOWT, AEHKROBEEZSMNSELET,
SlEGE. REEMEOIREZSO-BEBNEEAEEEDHET.

BEEREY 127,730 A 3¢
X R EEEMH (1/2823FNo11868TEE BB FRABU BIEFTE M. 1/298KNo 12292 1R FHEFRIB AL BFSFTE M GE4R JIET)) R T IF.

Ea BT EEHR
PAETEE1H0/292R)MTIFLEY . BIERXRBFH .

3,8880 A

[F£H]) (A) (N)
10K 128]12.8%
10#¢ 155] 15.5% 30#¢ .
20% 155 15.5% BT | 993|593
304% 155 15.5%
4018 141 14.1% 40+ .
50f% 106] 1064 | sosc | 247[47
604t 76| 7.6%
70£¢ 42| 4.2% 60¢ .
80f% 26| 26% pt | 160 16.0%
0L 16| 1.6%
EAE 0| o0.0% - 0| 0.0%
& 1000 100.0% i 1000 100.0%
| QES:1D| (A)
5 492(49.2%
£ 508 50.8%
EAE 0| 0.0%
& 1000 100.0%
[EdR] (A)
Ak 52| 5.2%
B 935 93.5%
FEAE 13| 1.3%
E$hd 0| 0.0%
& 1000 100.0%
[E#] N o8
REEAhE | 313(31.3% % .
S 108] 10.8% By | A21]421%
ES 579|57.9% L 579]57.9%
& 1000 100.0% & 1,000 100.0%
[EEEEEUSEEA A B —Hu s
FE 45|85 102
FiF 158| K& 45
#51 215| 2 39
=] 138|803k 5
SR 148|F1iK 29
B EE 22|iMA 54
H 1000
[(B#HDH#FE)
1724 | 1/25 | 1/26 | 1/27 | 1728 | 1/29 | 1/30
BREHH 4,782 7,755| 8,845 8,656| 9,072 9878 —
BEEH 1838| 3353| 4300 4302| 4341| 4632 4,450
1388y | 2402.4| 2646.9] 2902.6] 3162.7| 3362.7| 3635.4| 3888.0

[3hiz] FEiE#h (N)
e [#FEm 11
BT 0

wEm 1

L = Y
EERE R EEmEN 0

EEW o __...]..102
=W ...)...Al
TEREEILEEmEN 2

Brepdt [am ] 144
g ]...5]
e ] 10

P EEEILESHEN 3

BAEm 0

g T

s [P )] 18
IR sy 5
SRR ) 4

I RE R E B E N 29

P N 5

P R 10

=AM ) 1

iEE mEm ] 4
B ) 3

L) S A 1
MEREEAEETEN 114

BT 15

Kl L) R N 0

hIBEE |mwEr ] 0
1L S 0
HREERREILERIEN 29
LSl R I 10

REW. . 1

AR ) 1

35 L) S 0

TEIEE [REREELEBmEAR 63
SRR ] 4

K T 1

EERET ] 0
SRR BB EN 40

=T 10
L
AUmRET | 1

BE [ZRRRELEEmEA 28
3N R I 0

L N I 0
SEXREEILESHEN 5

e T N 0

FHR |fmsgwm ] 0
NEREEAEEREN 29

AT ] 0

% Rtz 1y T 0
S N 0
MAEREEAEEREN 53

BR 5

ZDih Bot 5
= 1000

WERBEA IS E LT, BSEE DR E I
0. EAERREDOBLEN D BERLOFE - BREEN
BEShZRWE S, £z, RELZBET 2 720 R ~D
AR, ik 2kt 2 BEERE A R & 9 FRBE D TRE &

BREAWLET,




